
QUADRANTS 
UNLOCKED 

༃ 

sin θ > 0 cos θ > 0 

sin θ < 0 cos θ < 0 

cos θ < 0 tan θ < 0 

sin θ > 0 cos θ < 0 



QUADRANTS 
UNLOCKED 

༄ 

tan θ < 0 sin θ < 0 

sin θ > 0 cos θ > 0 

tan θ < 0 sin θ > 0 

cos θ > 0 tan θ > 0 



QUADRANTS 
UNLOCKED 

༅ 

sin θ < 0 cos θ > 0 

sin θ < 0 tan θ > 0 

sin θ > 0 tan θ > 0 

tan θ < 0 cos θ > 0 



QUADRANTS 
UNLOCKED 

༆ 

cos θ < 0 tan θ < 0 

sin θ > 0 tan θ > 0 

tan θ < 0 cos θ > 0 

tan θ < 0 sin θ > 0 



QUADRANTS 
UNLOCKED 

༇ 

tan θ < 0 sin θ < 0 

tan θ < 0 cos θ > 0 

sin θ > 0 cos θ < 0 

sin θ < 0 cos θ < 0 


